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1. Xp7|xp2 1,563,727,787

2. 2| AYYRHE=A(A=Aa+Ab+Ac) 775,251,646
22 FX|XH7|RH2(Aa) 700,000,000
DA EHQAHE (Ab) 6,202,506
1gAte 8 Xt (A 69,049,140

3. A AYURHEH2(B=Aa+(Ab+Ac) * 50%) 737,625,823
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1. Xp71XH2 1,563,727,787
2. | AHAXIEY(A=Aa+Ab+Ac) 775,251,646
LA {XIX7|XH2(Aa) 1,000,000,000 700,000,000
DR EE R XHE (Ab) 6,202,506
Y EXMA SHTURERT | - -
e ERY A 7| E YEERI|F 20,675,020,248 6,202,506
SR YR A - -
DX EERXHE (A 69,049,140
& A 69,049,140
XESH AR R X2 - -
R ESH_BAS AERX & - -
XE2ESH el EXAEHFA & 748,708,400 56,153,130
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UBEXNSH I 28 UHEASH 1,149,838,969
UHEASH_EINEE UEENSH 257,920,213 12,896,010
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oHEAE - -
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3. |2 HYXHEM2(B=Aa+(Ab+Ac) * 50%) 737,625,823




